A | BB OREIRIL (IR 2 7 4R 25 1 DU 435)

WHH | 201 548H10H

B2
PRk 2 TAREEGS 1 U (2 0 1 54 6 ARIUE) DOEMFIREIOREIRDLIZ
SR TARIREA P S5 ) & FR A Bl T P RBHR B IRDL (PR 2 7 AR EES 1 DU=180)
MW,




AR X - 7 58 BE T FH S BHR A IR DL Gk 2 7 AR BE SR 1 DU f=1)

PRk 2 746 A RBAEDM A FEBEIORERIZ LT 0@ HESR L ET,

Gy Pl 7% BN & Mo i ISR -
(%) (&) (&) (%)
1 1% 2,790 2,026 1,835 91
2 S 3,239 2,475 1,759 ¥om
3 i 3,212 2,448 1,695 % 69
4 1k 3,209 2,445 1,660 % 68
5 % 3,175 2,411 1,934 #J 80
6 FH% 3,410 2,538 2,362 % 93
7 5 3,444 2,572 2,489 97
S 22,479 16,915 13,734 % 81
() - HHEAE=ITERARE— 1L

1~55HZ. 15P.076 41K
6, 75T, 1087 21K

X100




